(4) RHEEHREFTEHES ARG B A EkER

1)
ég = PR27ER | BIEL 18 25 38 48 58
Bk HE (FA) 130, 532 99. 3% 8,179 6, 904 13,970 1,825 8,942
N 3 £% (FH)| 8,882,056 107.9% 667, 757 552, 049 1,047,916 524, 834 615, 335
= 0)
e HE (FA) 2,951 107.8% 151 129 212 165 180
&% (FH) 218,854 118.7% 13, 940 11, 353 17, 342 13, 331 13,633
Bk HE (FAX) 74,842 100. 4% 4,430 4,590 8,513 4,858 5,663
2T L — % £ZE (FA)| 4,344,760| 112.6% 281, 936 267, 683 493,516 253, 653 322,107
= 0,
e HE (FAX) 98 82.0% 0 0 0 0 1
&% (FH) 2,675 83. 7% 0 0 0 0 20
Bk HE (FAX) 66, 354 99. 1% 2,172 2,507 9,623 3,222 3,923
I 3 £Z (FA)| 2,397,257 111.4% 100, 655 112, 221 382, 288 99, 084 130, 490
= 0
e HE (FAX) 13,007 94. 4% 3 0 0 0 192
&% (FH) 446, 753 95. 6% 108 0 0 0 7,652
Bk HE (FAX) 64,572| 100. 1% 3,603 3,757 6, 954 5, 005 8,525
H—h—as +£% (FH)| 3,308,783 105.0% 195,137 196, 237 379,110 273, 851 449, 965
= 0)
e %ﬂ;g(zf—*) 330 107.6% 36 28 35 63 72
&% (FH) 21,668 119.6% 2,548 1, 951 2,719 4,395 4,453
= 0
. ﬁig(:F?F) 54,328| 100. 1% 3,172 3,184 5,942 4,823 6, 381
X J L — £Z (FA)| 2,617,270] 106.0% 155, 022 155, 092 318,512 236, 279 298, 666
h—x—32 g [
3~z e ﬁig(:F?F) 1,767 95. 7% 217 182 266 317 510
&% (FH) 92,432| 108. 8% 11, 655 10, 160 17,311 17,333 23,836
. HE (FA) 62, 769 96. 4% 3,837 4,028 6, 044 5,190 6, 227
N 5 &% (FH)| 4,877,386 98. 7% 323, 256 365, 948 570, 549 446, 927 454, 004
= 0
e ﬁig(:F?F) 2, 256 93. 3% 155 136 183 230 271
&% (FH) 173,919 96. 2% 13, 899 14,047 21,019 19, 255 18, 501
iRk HE (FA) 15, 785 93. 3% 941 899 1,335 1, 505 1,757
2TL—nS +% (FH)| 1,512,509 97. 9% 94, 361 102, 066 178, 537 150, 286 165, 924
= 0
e ﬁig(:F?F) 1,429 92. 3% 82 88 117 143 179
1] &% (FH) 138, 382 94. 3% 8,984 10, 462 17,570 14, 869 17,422
- = 0
1te . HE (FX) 4,775 102. 30/0 214 195 409 219 258
Mmoo Y &% (FH) 453,837 108.9% 20, 849 20, 593 50, 900 21,913 26, 249
= 0
e HE(FX) 2 61. 4% 0 0 0 0 0
&% (FH) 164 59. 2% 0 0 0 0 0
iS4tk HE(FX) 3, 852 94. 5% 161 171 448 2717 389
LY &% (FH) 322,203 98. 2% 15,927 18,210 44,662 23,912 217,411
= 0
e HE(FX) 34| 138.8% 0 0 0 3 8
&% (FH) 1,846 114.6% 25 0 0 212 349
iS4tk HE(FX) 18, 724 96. 9% 1,109 1,050 1,524 1,358 1,617
NAT Yk % (FA)| 3,972,383] 100.8% 266, 125 270, 186 396, 841 307, 897 304, 219
= 0
e HE(FX) 9| 104.3% 3 0 0 1 1
&% (FH) 579 71. 8% 230 0 0 54 32
iS4tk HE(FX) 996 98. 9% 32 49 113 79 110
20 Y &% (FH) 104, 902 98. 3% 4,599 5,929 13,470 9, 450 10, 634
e B3 [
F R HE (FAX) 3 70. 8% 0 0 0 0 0
&% (FH) 169 90. 2% 0 0 0 16 10
1B e HE (FAX) 12,145 88. 9% 1,689 1,616 2,924 610 34
Zbkw b &% (FH) 878,133 99. 1% 166, 939 136, 148 209, 512 41,499 2,314
P * = "
F R HE (FAX) 32 97. 6% 12 3 1 1 0
&% (FH) 1,454 103.5% 647 214 76 33 0
1B e HE (FAX) 26,000| 106. 9% 1,617 1,668 3,938 2, 660 2,364
AR —F R % (FA)| 1,077,158] 107.3% 82, 951 85,084 214,553 55,813 62,012
SZa7—4% HE (FAX) 0 - 0 0 0 0 0
- 1=}
AR ) o 0 0 0 0 0
1B e HE (FAX) 4,062 102.5% 40 27 36 144 380
z ) th &% (FH) 281,949 110.7% 3,859 2,975 4,155 14,419 29,125
2E—=F R g p
ERE HE (FAX) 29 66. 6% 0 0 0 0 20
&% (FH) 1,469 83. 9% 0 0 0 0 1,133
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E
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3,000 3 0 65 1,085 2,533 5, 451
5 433 5 083 3,988 6, 059 6,115 5 579 5,185 o
78 #HE| 3.6%
311, 487 290, 193 254, 810 434, 830 493, 866 460, 644 470, 873 N
2
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gﬁ mE TRk275ET| RIS 18 2R 3R 47 5H
g BEER) 27,205 98, 2% 1,738 1,492 1,860 1,587 1,867
FLax$ay 25 (FM)| 4 401,813 102. 5% 290, 516 260, 992 352,777 342,702 389, 551
8 e | R (F ) 611] 81.8% 35 25 18 28 66
2z Fm)| 106, 749] 85 5% 7,637 4,886 2,882 6, 269 15, 357
g REFR) 5.424]  91.8% 812 989 1,645 641 19
S — 7 2z Fm)| 264, 054] 99.0% 42,197 48,014 79, 253 25, 995 684
e | R E FA) 2,279]  86. 2% 459 450 448 47 0
2z Fm|  123,014] 90 2% 25, 247 24, 565 23,101 2,172 0
g BE A 4,912]  95.8% 220 216 330 253 380
X ® % 2z Fm)| 296,989 105. 8% 15, 744 14,473 21,874 18,523 22,566
7591—5%3&&%@ HE (FH) 1,919] 100. 6% 0 0 0 0 155
£33 (FA) 97,226] 114.8% 0 0 0 4 8 613
g BEFA) 194]  95.9% 18 26 25 54 21
I 2 248 (FM) 8,272 107. 7% 948 1,015 1,017 2,236 748
ISUF IR g | R E (FE) 37]  67.4% 0 0 0 0 2
£33 (FA) 1,754]  71.7% 0 0 0 0 105
g BEFA) 1,172] 90. 4% 102 95 105 109 84
h R L 7 2mFm|  387,220] 92.2% 49,369 35, 220 30, 300 20, 787 22935
e | R (F ) 18] 42.3% 3 1 0 0 3
£ (FM) 5,450  44.1% 1,132 475 68 98 769
g0 B (FA) 1,128] 103.9% 94 96 104 100 115
SrLIFz £ (Fm)| 566,756 103.8% 53, 664 46,108 47,052 44, 448 43,550
e | R (F ) 22]  87.6% 2 2 2 2 2
£ (F/M) 8,468  89. 4% 1,086 654 646 568 350
g0 AR (FA) 4,579] 102. 4% 85 66 89 138 285
E)g 7 2 4 — 2z Fm)| 251,903 105. 4% 4,811 3,987 5,995 10, 330 19,278
it e | R (F ) 988]  98.2% 1 0 0 0 0
£ (F/M) 45,274] 102. 3% 35 0 0 0 0
g0 B (FA) 1,267] 100.9% 59 138 159 207 392
7y s L &% (FM) 70,512 110. 7% 3,564 6, 349 7,811 13,707 22,421
e | R (F ) 5] 72.4% 0 0 0 0 5
2% (FM) 316  71.6% 0 0 0 0 314
g0 B (FA) 15,786] 98. 4% 1,206 1,377 2,022 2,312 1,929
7 R kO 2% (Fm)| 1,329,595 107.2% 114, 751 117, 221 187, 984 151,873 115, 292
A 1) 7 S—— HE(FAF) 685 115.0% 41 62 125 148 82
2% (FM) 36,078 126. 1% 2,775 3,618 8, 148 5, 850 2,624
IR 1G] 4,480 97.0% 297 419 680 688 475
h 5 — £z Fm)| 406,503 102. 6% 29, 066 33, 440 53,764 50, 953 38,407
N o) 51] 100. 9% 0 4 13 18 7
2% (FM) 2,685 113.1% 0 185 730 833 282
g0 B (FA) 1,902] 109. 2% 42 48 172 476 843
By =25 s@mEm|  110,721] 113.2% 3,326 3,743 12, 654 30, 719 43,449
N o) 30] 297. 4% 0 3 6 7 9
2% (FM) 1,713] 207. 6% 0 224 446 450 433
g BEER) 38,833 97.1% 2,802 3,104 4,398 4,270 3,742
H — x5 2@ Fm)| 1,367,967 102.1% 95, 108 101, 687 230, 778 136, 983 133,712
) 604]  94.7% 20 31 71 69 70
£ (FM) 19,759] 106. 3% 673 994 3,628 1,987 2,827
g BEFR) 6,300] 99. 6% 706 856 1,369 917 203
PR 2@ Fm)| 361,204 104.0% 57,026 60, 764 90, 016 44,572 9, 256
) 1] 61.2% 0 0 6 1 4
£ (F/M) 791]  75. 9% 0 14 525 54 147




68 78 88 98 10 18 128 wiE |PLEEETR o
(m)
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162 | #&E| 228 £,
357, 434 408, 791 423,095 439,142 437, 683 366, 324 332, 806 e
187 110 16 0 29 55 42 s
175 |2 2.4%| -
26, 000 13,792 1,744 47 6, 953 11,139 10, 042 =8 "
0 0 0 2 35 312 967 7
49 g 4.0 v
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2,672 731 94 779 2, 256 2,375 4,156 e 17
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o |mE| 11 4
28, 254 29, 383 20, 110 27,810 30, 547 31,784 32,984 2
3 4 0 0 0 0 3 |
53 |2z 0.7
196 237 0 0 0 32 189 e k
285 2 3 1 0 7 24 A
58 g 1.6 :
14,514 89 257 88 0 554 1,327 HE i %
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58 |2zE 1.5
160 0 0 0 0 0 0 e oz
2,853 2,557 2,682 2,702 3,029 3, 658 309 o Twg! 1 el #
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gﬁ & B FR2TFF| AIFLE 1A 2R 3A 48 58
gk NEFE) 4,008/  95.2% 82 21 72 96 280
CE » (B £EEM| 176,692)  97.2% 4,882 1,383 5, 642 6, 544 12, 356
s | AR (F ) 31 80.7% 0 0 0 0 0
S8 (FA) 1,472] 121.3% 0 0 0 0 0
oo | HE(FA) 8,231]  96.9% 18 0 0 0 30
H oo e 5 T ) T IR 559 0 0 0 1,363
s | R (F ) 133]  78.7% 11 0 0 0 0
&3 (FM) 7,760]  95. 4% 288 0 0 0 0
AL 16T 1,222]  88.0% 17 22 27 22 13
22 £ 2 &8 (FM) 45,351] 103.1% 47 819 532 407 283
s | R (FA) 109] 100. 5% 0 0 0 0 0
&3 (FM) 3,003] 158.3% 0 0 0 0 0
s BEFE) 3,631]  90.3% 0 i 10 518 2,225
Lo << £%8 (FMA)[ 272,805 104.2% 7 268 1,390 54,014 154, 754
s | R (F A 121 86.4% 0 0 0 1 120
&3 (FM) 8,485  91.7% 0 0 0 120 8,349
sk BEFE) 4,965] 99.1% 269 260 327 421 425
5y 7 % (FM)[ 670,355 106.5% 41,683 40, 658 56, 840 57, 202 44,173
s | R (F ) 12)  92.7% 0 0 0 0 1
£ (FA) 535 70.4% 0 0 0 0 58
im ok BEFE) 9,850 88.0% 2,136 2,549 3,299 206 2
Fa—yT £ (FA)|  604,105] 95 0% 129, 346 153, 434 204, 958 10, 795 165
s | R (F ) 306] 75.0% 55 42 103 37 0
) S8 (FA) 14,853]  82. 4% 2,550 1, 951 5,416 1,667 0
1t im ok BEFE) 8, 444] 93.1% 403 384 656 959 1,122
F L T 4 %8 (FM)[ 885 788 104.6% 52, 741 53, 524 96, 969 91,743 89, 733
= a3 — 4L |#EFH 56 111.5% 0 0 2 3 40
FIRE S F ) 2,872]  99.9% 0 0 265 310 1,709
im ek BEFE) 4,298] 95 1% 194 199 306 528 733
5 T L o #%8 (FA)[ 193,446 106.2% 8, 855 9, 480 15, 482 23, 711 29, 603
s | R (F ) 102] 75 4% 8 9 12 33 31
2% (FA) 4,986 84.5% 370 438 690 1,757 1,337
im ok BEFE) 1,018] 85.8% 0 0 2 543 451
EL S A S8 (FM) 57,587)  99.9% 0 0 141 29, 581 26, 541
s | R (F ) 33| 56.0% 0 0 0 8 17
2% (FA) 2,237]  75.9% 0 0 0 609 1,163
im ok BEFE) 10,369]  94. 2% 41 44 84 580 1,419
o by % (FMH)[ 568, 640 104.5% 1,550 1,807 4,751 32, 888 75, 676
s | R (F ) 250]  79.8% 0 0 0 16 88
2% (FA) 10,879  93. 4% 0 0 0 826 3,947
im ok BEFE) 1,632] 100. 9% 59 74 79 77 221
SALF AT £ (FM) 84,596] 101.8% 3,165 3,678 4,522 4,572 11,292
s | R (F ) 121 106. 1% 2 8 8 5 14
2% (FA) 7,234] 107.7% 154 542 532 331 797
gk R (FE) 1,562] 84.8% 20 21 93 127 149
y 7Ry £EFM) 50,475 90. 7% 674 728 3, 686 4,403 5, 771
sm | RE (T H) 49  93.2% 0 0 0 0 0
£ (FA) 1,491)  85. 7% 0 0 0 0 0
g ik | R (F ) 1,360/ 101.5% 11 8 63 202 376
.. 3- 6y £EFM) 43,121] 102.1% 539 424 3,409 7,788 9,991
1 R sem | RE (T 104/ 107. 8% 0 0 0 18 78
TR S () 3,535 103.1% 0 0 10 974 2,334
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)

%E mE k2755 | BIFEL 18 2A 3R 4R 5H
e AR (FH) 165]  141.2% 18 44 50 4 0
7 oH o 7 £ (FM) 50,078  136. 2% 5, 741 15,794 15, 786 862 115
s | R (FH) o] — 0 0 0 0 0
£ (FM) 106] — 0 3 0 0 0
N 163) 606]  109. 8% 18 26 41 30 63
5L o 0 & Fm)| 429, 138] 102 4% 13,271 16, 764 22,384 27,752 41,135
s | R (FH) 3] 115.2% 0 0 0 0 0
248 (FM) 751 72. 0% 0 0 1 0 3
N 163 165]  107.4% 27 6 1 0 0
" 24 (FM) 33, 607 93. 3% 4,433 1,191 111 24 0
e | R (FH) 7] 322.4% 13 1 0 0 0
24 (FM) 1,620]  136.6% 873 131 30 0 0
N 16 23] 123.4% 0 0 0 0 0
S b L= 245 (FM) 8, 415]  110.3% 0 0 0 0 0
s | R (FH) 2] 122.9% 0 0 0 0 0
248 (FM) 439] 128, 0% 0 0 0 0 0
e AR (FH) 498 92. 4% 66 109 200 96 6
- %y 2mEm|  114,136]  100. 6% 23, 886 27,160 44, 400 15,530 484
N ) 16 87. 1% 0 0 0 0 3
&% (F/M) 347 91. 5% 0 0 0 11 112
N 1G] 1,975 99. 6% 128 139 151 136 152
s = 2mFm| 418,289 104 4% 27, 331 28,216 30, 396 29,768 34, 971
e | R (FH) 121 81. 3% 10 10 10 10 10
2% (F/M) 60, 712 88. 9% 4,436 4,089 4, 885 4,482 5, 466
N 1G] 190] 113.9% 9 8 19 9 12
L o= 2% (FM) 85,586  111.4% 4,801 4,188 8,143 3,959 5 257
e | R (FH) 1] 125.7% 0 0 0 0 0
2% (F/M) 2, 405 78. 9% 0 16 175 189 51
| BEFR) 2,794 87. 7% 5 0 0 0 0
17 < - PHE 23 (FA)| 460,289]  107. 9% 772 0 0 0 0
% s | 2B (FH) 1,733 87. 7% 0 0 0 0 0
2@ Fm|  266,224]  113.3% 2 0 0 0 0
ipe ) B (FH) 258]  112.5% 0 0 1 16 38
B3 AL 2@mFm|  176,823]  112.2% 16 37 1,023 12,094 28, 355
N ) 9] 167.3% 0 0 0 1 2
£ (FM) 5516]  139.5% 0 0 268 818 1,001
ige s AR (FH) 928]  102.8% 15 873 40 0 0
" £z Fm| 155,051  104.8% 2,852 146, 419 5,671 110 0
N ) 243] 105. 4% 5 234 5 0 0
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